
Average receivable

CASH OUT CASH IN

DAY 0

T H E  C A S H  C O N V E R S I O N  C Y C L E

Average stockholding
= 65 days = 45 days

DAY 35 DAY 65 DAY 110

Buy stock from
supplier

Pay supplier for
stock

Sell stock to
customer

Receive payment  
from customer

Cash Conversion Cycle =

+                                        -                                    =

Ave. stockholding days      Avg. receivable days      Avg. payable days      Days to convert inputs to cash+                                        -                                    =

65 days 45 days 35 days 75 days

Your
Cycle = +                                        -                                    =_____ days _____ days _____ days _____ days


